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G&M 10.5 Applies concepts of similarity by solving problems within mathematics or across disciplines
or contexts.

@ The ratio of the volumes of two cubes is
1:64. What is the ratio of the edge lengths of
the two cubes?

A, 1:4

B. 1:8

C. 1:16

D. 1:64
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G&M 10.6

Solves problems involving perimeter, circumference, or area of two-dimensional figures
(including composite figures) or surface area or volume of three-dimensional figures (including
composite figures) within mathematics or across disciplines or contexts.

0 Look at this target.

5 points

Which expression represents the area, in
square inches, of the section of the target that
is labeled “4 points”?

A. 3%
B. 10°n
C. (77-3Mn
D. (10*-7)x




NECAP 2011 RELEASED ITEMS
GRADE 11 MATH

G&M 10.6  Solves problems involving perimeter, circumference, or area of two-dimensional figures
(including composite figures) or surface area or volume of three-dimensional figures (including
composite figures) within mathematics or across disciplines or contexts.

€ A diagram of a building is shown.

40 ft I

60 ft
not drawn to scale

The building has a roof in the shape of a
square pyramid. The slant height of the roof is
40 ft. What is the total surface area of the roof?

A. 9600 ft?
B. 8400 ft
C. 4800 ft?
D. 2400 ft?
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G&M 10.7  Uses units of measure appropriately and consistently when solving problems across content
strands; makes conversions within or across systems and makes decisions concerning an
appropriate degree of accuracy in problem situations involving measurement in other GEs.

@ One mile is equivalent to 320 rods. One
square mile is equivalent to 640 acres. How
many square rods are in 1 acre?

A. 2
B. 4
C. 160
D. 960

G&M 10.9 Solves problems on and off the coordinate plane involving distance, midpoint, perpendicular and
parallel lines, or slope.

© Quadrilateral PQRS has vertices at these

coordinates.
e P(6,5)
© 024
* R(4,0)
« S, 1)

Which statement is true?

A. PQ is parallel to RS.

PQ is perpendicular to PS.

B
C. OR is parallel to PS.
D

OR is perpendicular to RS.
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F&A 10.1 Identifies, extends, and generalizes a variety of patterns (linear and nonlinear) represented by
models, tables, sequences, or graphs in problem solving situations.

6 This table shows the perimeters, in inches,
of rectangles with different widths.

Width Perimeter
(in.) (in.)
1 6x + 4
2 6x + 6
3 6x +8
4 6x+ 10
5 6x + 12

Based on the table, what is the width of a
rectangle with a perimeter of 6x + 50 inches?

A. 24 inches
B. 25 inches
C. 40 inches
D. 47 inches
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F&A 10.2 Demonstrates conceptual understanding of linear and nonlinear functions and relations

(including characteristics of classes of functions) through an analysis of constant, variable,

or average rates of change, intercepts, domain, range, maximum and minimum values, increasing
and decreasing intervals and rates of change (e.g., the height is increasing at a decreasing rate);
describes how change in the value of one variable relates to change in the value of a second
variable; or works between and among different representations of functions and relations (e.g.,
graphs, tables, equations, function notation).

@ Look at this graph of a function.

\

For which values of x does the function have
a rate of change that is less than zero?

A.

B.
C.
D

between —4 and -2
between —2 and 1
between 1 and 2

between 2 and 4
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F&A 10.4

Demonstrates conceptual understanding of equality by solving problems involving algebraic
reasoning about equality; by translating problem situations into equations; by solving linear
equations (symbolically and graphically) and expressing the solution set symbolically or
graphically, or provides the meaning of the graphical interpretations of solution(s) in problem-
solving situations; or by solving problems involving systems of linear equations in a context (using
equations or graphs) or using models or representations.

© A theater group earned a total of $5180
selling tickets to a musical.

Tickets for balcony seats sold for
$5 each.

Tickets for orchestra seats sold for
$8 each.

The group sold four times as many
tickets for balcony seats as for
orchestra seats.

How many tickets for balcony seats were sold?

A.

B.
C.
D

140
360
560
740
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F&A 10.4  Demonstrates conceptual understanding of equality by solving problems involving algebraic
reasoning about equality; by translating problem situations into equations; by solving linear
equations (symbolically and graphically) and expressing the solution set symbolically or
graphically, or provides the meaning of the graphical interpretations of solution(s) in problem-
solving situations; or by solving problems involving systems of linear equations in a context
(using equations or graphs) or using models or representations.

@ Trevor has $6 to spend on raisins and peanuts. Raisins cost $1 per pound, and peanuts cost $2 per
pound. Which graph shows the relationship between the number of pounds of raisins and the number
of pounds of peanuts that Trevor can buy?

A A
[2] [2]
§6 = 6
g0 g0
a 4 Q4
A, © B. ©
gz gz
5 1 5 1
) _ <) o
o 0 > o 0 >
123456 123456
Pounds of Raisins Pounds of Raisins
A A
(2] (2]
é 6 426
P > S 5
a 4 Q4
C ° D. o
§2 g2
s 1 S 1
o _ o o
S0 o a o >
123456 123456
Pounds of Raisins Pounds of Raisins
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DSP 10.2 Analyzes patterns, trends, or distributions in data in a variety of contexts by determining, using,

or analyzing measures of central tendency (mean, median, or mode), dispersion (range or variation),
outliers, quartile values, estimated line of best fit, regression line, or correlation (strong positive,
strong negative, or no correlation) to solve problems; and solve problems involving conceptual
understanding of the sample from which the statistics were developed.

@ Which graph shows a strong negative correlation between the mean age of the players on professional

basketball teams and the number of wins last season?

Number of Wins

Number of Wins

Last Season

Last Season

A " A
. é 5
L] o o
. 5 8
(1} o o
o : ‘d-) w : o
B. o 0 °
o o E © ° °
° =
° 2 ° °
Mean Age Mean Age
of Players of Players
A A
()
. o Ec| *°
R R ° E 8 ° R °
° o 8
£ (n L] ]
(]
[ ) o o D. -g _";,, [ ) o
) =] 3 ¢
[} ° 2 e o
Mean Age Mean Age
of Players of Players

* Item appeared differently in test booklet.
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DSP 10.3 Identifies or describes representations or elements of representations that best display a given set
of data or situation, consistent with the representations required in M(DSP)-10-1.

@ Joshua asked 50 college students, “What career field do you plan to enter when you graduate?”
His data are shown in this table.

Career Number of
Field College Students
Education 16
Medicine 10
Law 4
Other 20

Which circle graph shows the data?

Other |Education

A. B.
Law Medicine
Law
Education
C. D. Other
Law

10
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DSP 10.5 Solves problems involving experimental or theoretical probability.

@ Eliza spun the arrow on a spinner several
times. For each spin, she recorded the color
of the section in which the arrow stopped.

Eliza’s results are shown in this table.

Color | Number of Times
Red 21
Blue 15
Green 24

Eliza will spin the arrow on the spinner one
more time. Based on the data in the table,
what is the probability the arrow will stop in

the red section?

A I
B. 1
C. 3
D =

11
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G&M 10.4  Applies the concepts of congruency by solving problems on or off a coordinate plane involving
reflections, translations, or rotations; or solves problems using congruency involving problems
within mathematics or across disciplines or contexts.

@® Look at triangle POR on the grid below.

y
6
P (-2, 5)
4
2
R(-2,2)
-6 ) 2 4 6 X
2
—4
Q (-6, -5)
Y

What are the coordinates of the image of point Q after triangle POR is reflected over line PR?

Scoring Guide:

Score Description

1 for correct answer, (2, —5) or equivalent

Response is incorrect or contains some correct work that is irrelevant to the skill or

0 concept being measured.

Blank | No response

12
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Score Point 1

The student’s answer is correct.

Score Point 0
(ExampLE A)

The student’'s answer is incorrect.

Score Point 0
(ExampLE B)

'T\'\Q COOrd\f\O.{e{J QJOLL].d LQ,

(.

The student’'s answer is incorrect.

13
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G&M 10.6  Solves problems involving perimeter, circumference, or area of two-dimensional figures
(including composite figures) or surface area or volume of three-dimensional figures
(including composite figures) within mathematics or across disciplines or contexts.

@ This diagram shows the net of a triangular prism.

I 7 R R
H
1 unit

What is the volume, in cubic units, of the triangular prism that can be made from this net?

Scoring Guide:

Score Description

1 for correct answer, 42 (cubic units)

Response is incorrect or contains some correct work that is irrelevant to the skill or

0 concept being measured.

Blank | No response

14
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Score Point 1
(ExampLE A)

ITEMS

(14) acea, ot bae = X(3 )= (pumis®

R Junds | Pwee = o F = Yauny?

The student’s answer is correct. (Showing work is not required.)

Score Point 1
(ExamprLE B)

[‘fl tUdaic wnids

The student’'s answer is correct.

Score Point 0

\a

ﬂ;. $X4 5 (5 %alrianges)

The student’s answer is incorrect.

1a s\#2 Gx1d =849 413 = Jbunnts

15
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F&A 10.2 Demonstrates conceptual understanding of linear and nonlinear functions and relations (including
characteristics of classes of functions) through an analysis of constant, variable, or average rates of
change, intercepts, domain, range, maximum and minimum values, increasing and decreasing intervals
and rates of change (e.g., the height is increasing at a decreasing rate); describes how change in the
value of one variable relates to change in the value of a second variable; or works between and among
different representations of functions and relations (e.g., graphs, tables, equations, function notation).

x| 5 10 15 20

1 1 1 1
Y| 10 20 30 40

Write an equation that shows the same relationship between x and y as in the table.

Scoring Guide:

Score Description

1 for correct equation, y=%{ or equivalent

Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response

16
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Score Point 1
(ExampLE A)

v

The student’s answer is correct.

Score Point 1
(ExampLE B)

The student’s answer is correct.

Score PoinT 0
(ExampLE A)

The student’'s answer is incorrect.

Score Point 0
(ExampLE B)

The student’'s answer is incorrect.

17
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F&A 10.3 Demonstrates conceptual understanding of algebraic expressions by solving problems involving
algebraic expressions, by simplifying expressions (e.g., simplifying polynomial or rational expressions,
or expressions involving integer exponents, square roots, or absolute values), by evaluating expressions,
or by translating problem situations into algebraic expressions.

@ Sophia uses the equation below to estimate the percent, p, of games a baseball team is expected to win
based on the number of runs scored, s, and the number of runs the team allows, a.

2
N

=——x100
p 2142

Sophia’s favorite baseball team scored 200 runs and allowed 150 runs. What percent of games is this
team expected to win?

Scoring Guide:

Score Description

1 for correct answer, 64(%)

0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response

18
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Score Point 1
(ExampLE A)

(4%

The student’s answer is correct.

Score Point 1
(ExampLE B)

.

The student’'s answer is correct.

Score PoinT 0
(ExampLE A)

P.2002 o Hooms

(16) 3
P :’—Lb im = = Xl
54 fa X aon™ + 6 Yoooo ¥ IR
LHO000 - - "
Qo000 ¥ B~ o X0~ |3 The student’s answer is incorrect.
Score Point 0
(ExampLE B)
200 * HO,eo0~ 2,500 X 100
01507 X100 6,000 The student’s answer is incorrect.
0,500 olo4

19
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F&A 10.3 Demonstrates conceptual understanding of algebraic expressions by solving problems involving
algebraic expressions, by simplifying expressions (e.g., simplifying polynomial or rational expressions,
or expressions involving integer exponents, square roots, or absolute values), by evaluating expressions,
or by translating problem situations into algebraic expressions.

@ The width of a rectangle is w feet. The length of the rectangle is 3 feet less than twice its width. Write
an expression that represents the area, in square feet, of the rectangle in terms of w.

Scoring Guide:

Score Description

1 for correct expression, w(2w - 3) or equivalent

0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response

20
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Score Point 1
(ExampLE A)

Length  Widfh
(g? - 3) ( w) The student's answer is correct.

Score Point 1
(ExampLE B)

Narea = /awﬂwf wid th Lv**flﬂ.; w

€ny _?-'»,: 2uw=3

- —;‘“-::'\ The student’s answer is correct.
f wl2wD)=2.730)

Score Point 0
(ExampLE A)

A
a: -J'w " /L-B) The student’s answer is incorrect.

21
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Score Point 0
(ExamprLE B)

3- 2w

Aceo= \'ng 2"“’\ o
Areo = 3w — 2W

The student’s answer is incorrect.

Score PoinT 0
(ExampLE C)

The student’s answer is incorrect.

22
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DSP 10.5 Solves problems involving experimental or theoretical probability.

@ The quality control officer at a tire factory reported that 20 tires were defective out of a sample of
10,000 tires. What is the probability that a tire made at this factory is not defective?

Scoring Guide:

Score Description

1 for correct answer, 9,980 or equivalent
10,000

0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response

23
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Score Point 1
(ExampLE A)

©® 99.9%, of Hhe +ices wil not e deFectve.

The student’s answer is correct.

Score Point 1
(ExamprLE B)

"7 950 ok oF 10,00

The student’s answer is correct.

Score Point 1
(ExampLE C)

(18 26 , | ot of STO are defective Linitin
e = /':oc Sraens H3%9ax of T00 ore LGT dafectn
\&, OO

The student’s answer is correct. (Showing work is not required.)

24
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Score Point 0
(ExampLE A)

Yy a , ]
ver 1971 [tlective.
E i = il nst ke ve

4480
10,000 =20 = G g 1o clefecd 1t Fégo_w _ %

res Arkertivt

The student’'s answer is incorrect.

Score Point 0
(ExampLE B)

Tom =B = 199w delechin

The student’s answer is incorrect.

25
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N&O 10.2 Demonstrates understanding of the relative magnitude of real numbers by solving problems

involving ordering or comparing rational numbers, common irrational numbers (e.g., V2, 7), rational
bases with integer exponents, square roots, absolute values, integers, or numbers represented in
scientific notation using number lines or equality and inequality symbols.

@ Look at this number line.

P

Qo

‘AIB (o4 D

< |
o I I

Y

0 1 2

w -¢-
N

Which point is closest in value to O+/P ? Show your work or explain how you know.

Scoring Guide:

Score Description

2 for correct answer, C, with sufficient explanation or work shown to indicate correct strategy

for correct answer with insufficient or no explanation or work shown
1 or

for sufficient strategy with incorrect or no answer

0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response

26
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Score PoInT 2

I = B E
I % LT

e

_‘J {_)
h

The student’'s answer is correct, with N
sufficient work shown. O
>\

7
Ko
48

-
——

()
\*-i_.,_..-

Score Point 1

The student’s answer is correct, with no work shown.

Score Point 0

DiS ¢\WWSESY mnvalue because no

\"d 2 S0 MusY Bt greater fnon S

MOKE. WAL, TnT NUMber Wil b€ puitipied

The student’s answer is incorrect, with incorrect

strategy.

27
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G&M 10.9 Solves problems on and off the coordinate plane involving distance, midpoint, perpendicular and
parallel lines, or slope.

€M) Look at rectangle QRST.

S (4, -3)

T(3,-4)

What is the perimeter, in units, of rectangle QRST? Show your work or explain how you know.

Scoring Guide:

Score Description
2 for correct_answer, 16v2 (units) or an approximation, with sufficient explanation or work
shown to indicate correct strategy
for correct answer with insufficient or no explanation or work shown
or
1 for sufficient strategy with incorrect or no answer
or
correctly determines the two different side lengths: V2 and 7V2 or approximations
0 Response i.s incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.
Blank |No response

28
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Score Point 2
(ExampLE A)

P= 2 wr(-s-l-‘—i}“ FC43Y LY (M) s (-3 -y
PR XX, bULT wnirg

The student’s answer is correct, with sufficient work shown.

Score PoINT 2
(ExampLE B)

Dxtance Ferwola-

| Pecmerec o6 | 42 590 %S = iy -3 = 1z
Q RSy = | w o= Sde ROT JTGuv o34y = JZ

|6 ny
f "JE—( @ 1=V = 163
14 Jz 2Jz :

The student’s answer is correct, with sufficient work shown.
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Score Point 1
(ExampLE A)

o bb(g F:m 5, Tad (3 -5)1' made a vt tnangle and M?ﬁ‘aaﬂm
Thasrem to Gind ﬂ’l of 15 =2Vz WhichZ: doubled btmak F IS
e same a5 TZ !?fS 'Tand (-4,4) I rmade . ri5ht
Hragle and uﬁ(d cr.ul -t’m 1z énd le/j/A et

-G_‘l:'-"' 3%~ which T doublcd cause [#¢5 e sapue «5 BS.
ov m s The perméfer & r.ccf'o.nﬂm. QRST,

The student has correctly determined the two different side lengths.

Score Point 1
(ExampLE B)

D D%(a""n);r"'(‘g?“asi'

-4,21-»(-4-:4- 3)* RS =(-3- 4T (4 43
+ 73

<72 5 92

|+ | 49 +9
VZ ° L4 (@s = 4,40
|41 X 4y/q

The student has correctly determined the two different side lengths.
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Score Point 0

® (G, -x

31(31

( 3.,_fL\

Ho’:

)1 - distonce

pi

h 12 s T2 units

Wﬂ t 1,

The student’s answer is incorrec

t.

2ouns

31
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F&A 10.3 Demonstrates conceptual understanding of algebraic expressions by solving problems involving
algebraic expressions, by simplifying expressions (e.g., simplifying polynomial or rational expressions,
or expressions involving integer exponents, square roots, or absolute values), by evaluating expressions,
or by translating problem situations into algebraic expressions.

@) The expression inside each of these rectangles represents the area, in square units, of the rectangle.

3x2 + 2xy

4x2 — y2

5x° + 5xy

a. Write an algebraic expression in simplified form to represent the sum of the areas of all the
rectangles.

b. What is the total area, in square units, of the rectangles when x = 5 and y = 2?

Scoring Guide:

Score Description

for correct answer to part a, 12x2 + 7xy — y? or equivalent, and correct answer to part b,

2 366 (square units)

for correct answer to part a
or
1 for correct answer to part b
or

for correct answer to part b based on incorrect algebraic expression written in part a

Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response
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Score Point 2
(ExampLE A)

(53 sl g9
\AxX3+ 73 -y
A5 ) Q) =36(
1235) + 740 = v

260 +76 -\
270 -4

a) The student’s answer is correct. (Showing work is not required.)
b) The student’s answer is correct. (Showing work is not required.)

Score PoinT 2
(ExamprLE B)

1 1
& \{aﬂ A 7»«»; N
a a) The student’s answer is correct.
b) The student’'s answer is correct.
b\ ?)66\)0‘3\ 3

33
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Score Point 1
(ExampLE A)

F)- 1?4 ey —\Jj‘

&
B- @) Ay esx -2 2
2600t \y- L Afeci— 13

oG+ |3

a) The student’s answer is correct.
b) The student’s answer is incorrect. (Showing work is not required.)

Score Point 1
(ExampLE B)

o Sum o€ areas
b) 12(5)? 1"7(.'5)(’1)?(2)1 = ll(lg’)r‘“lO) +y =200+ 704

12 =374
25 : The total aseo. 15 374 squave ml‘ts’

a) The student’s answer is incorrect.
b) The student’s answer is correct based on an incorrect answer in part a.

al (‘2‘5” l.md) +(5Yx2r§ftj)‘r('-lyf‘ YY) = l:?.x"ﬂmjﬂ
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Score Point 0
(ExampLE A)

b)) |4

C\ ‘ !x -” %x o ¥ a) The student's answer is incorrect.
’ b) The student’s answer is incorrect.

Score Point 0
(ExampLE B)

yx> -y

D AR Ya v
® 2 SXY
ox? 4

2 + Txy =Yy "

a) The student’s answer is incorrect.
b) The student’s answer is incorrect.

B) Exp=bot +7xy-y?
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N&O 10.4 Accurately solves problems involving rational numbers within mathematics, across content strands,
disciplines or contexts (with emphasis on, but not limited to, proportions, percents, ratios, and rates).

@) Customer service surveys were sent to 200 cell phone users. Of those users, 80 completed the survey.

a. What percent of the 200 cell phone users completed the survey?

Of the users who completed the survey, 75% rated their overall service as excellent.

b. How many users rated their overall service as excellent?

Some of the cell phone users who completed the survey were sent a gift. Of these, 40%, representing
6 users, rated their service as excellent.

c. How many cell phone users who completed the survey were sent a gift? Show your work or explain
how you know.

Scoring Guide:

Score Description
4 4 points
3 3 points
2 2 points
1 1 point

Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

o

Blank | No response

Training Notes:
Parta: 1 point  for correct answer, 40(%)
Partb: 1 point for correct answer, 60

Partc: 2 points for correct answer, 15, with sufficient explanation or work shown to indicate correct strategy
OR
1 point  for correct answer with insufficient or no explanation or work shown
or
for appropriate strategy with incorrect or no answer

Sample Response:

Part c: 6 = total users sent gift x 40%
total users sent gift = 6 + 40% = 15
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Score PoinT 4

a) The student’s answer is correct.

&, Yo7

b' éO b) The student's answer is correct

C,H0% =6 0 20% =2 »x5= 15

1S “oPle WheC e  Seod S*P‘R because
Uo% of 4he People that gptgilhs was 6
(Q'aﬁ/:. S5 Hlud Wneens +hat 33 22% end
e x 5= \2ok s 345 = (5 %o (5

peelle ot « gt

c) The student’s answer is correct, with sufficient explanation given.
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Score Point 3

o dorl =
L10 o/b C@;nv e 'Pﬂfz _--.{W—\5

a) The student’s answer is correct.

& L/D(J US {{j b) The student’s answer is correct.

}5 G)wcgig {f,ca;-ﬂ:k o

\ J:r ,1—' c) The student’s answer is correct, with no explanation or
work shown.
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Score PoINT 2

40 200 cell phones |, 30 competed

2 ) |
80 _;_-z-' ?00 - | L’O'?o a) The student’s answer is correct.
@ 167 of 30, 16 :}q 30 <Y=20

720 x 3= (0O

W0 users rated it Qxceuem]

b) The student's answer is correct.

©) | wsers weve SE€nt A giFd.

c) The student’s answer is incorrect, with no explanation or work shown.

Score Point 1
(ExampLE A)

IO T R3S o LS compott v
“tiey

a) The student’s answer is incorrect.

x
Iiofiol1o

FORRIIES

N

@ \uD PORY ot trewr overal |

{0} {01\

\D

Sevaee 0O AL e\

MTM e KCe\\ex 2wt b) The student's answer is correct.

C.\T LM o C
U0 b use %\ﬂt\;ce\\mﬂq& a

L b
Al

s )

c) The student’s answer is incorrect, with insufficient strategy.
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Score Point 1
(ExampLE B)

2
- -3%;— _— '-'%-: _'3- - L’loa/a. COM-P\L\-(&*'\{ Suwrwv ey,

Sertuc€
= .

- 3¢ o ékuf:-u..-cr{.

20

b. 8o | (S — GO % \»\au.& o Ex€e)lend suerall
<
O

5&»-\-;' e, c© ;f\\.

a) The student’s answer is correct.
b) The student’s answer is incorrect.
c) The student’s answer is incorrect, with insufficient strategy.
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Score Point 0

S"Cni' '\'0 300 Ce\\ uSe ‘-S a) The student’s answer is incorrect.
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-~ 1}5 | - A6 b) The student’s answer is incorrect.
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—" HO — - ‘5 c) The student’s response is incorrect.
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| 4S5 people were Sent aiﬁ%.
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F&A 10.2 Demonstrates conceptual understanding of linear and nonlinear functions and relations (including
characteristics of classes of functions) through an analysis of constant, variable, or average rates of
change, intercepts, domain, range, maximum and minimum values, increasing and decreasing intervals
and rates of change (e.g., the height is increasing at a decreasing rate); describes how change in the
value of one variable relates to change in the value of a second variable; or works between and among
different representations of functions and relations (e.g., graphs, tables, equations, function notation).

@D The value of an antique chair increases exponentially. This graph shows the chair’s value over a set of
four ten-year periods.

Value of Antique Chair
over Time

480
440
400
360
320
280
240
200
160
120

80

40

Value ($)

0 1 2 3 4
Ten-Year Period

a. By what amount did the value of the antique chair increase during the first ten-year period?

b. By what percent did the value of the antique chair increase during each ten-year period? Show your
work or explain how you know.

c. During which ten-year period will the value of the antique chair reach $1000? Show your work or
explain how you know.
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Scoring Guide:

Score Description
4 5 points
4 points
3 or
correct answers to all parts
2 2 or 3 points
1 1 point
0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.
Blank |No response

Training Notes:

Part a:
Part b:

Part c:

1 point  for correct answer, ($)40
2 points  for correct answer, 50(%), with sufficient explanation or work shown to indicate correct

strategy

OR

1 point  for correct answer with insufficient or no explanation or work shown
or

for appropriate strategy with incorrect or no answer

2 points  for correct answer, 7th ten-year period or correct answer based on an incorrect answer in
part a and/or part b, with sufficient explanation or work shown to indicate correct strategy
OR
1 point  for correct answer with insufficient or no explanation or work shown
or
for appropriate strategy with incorrect or no answer

Sample Response:

Part b:

Part c:

Change in first ten-year period is $40 and 40 _ 0.5 =50%
The percent the value increases is 50%.

The value increases 50% every ten years.

4th ten-year period = $400, 5th ten-year period = $600, 6th ten-year period = $900, 7th ten-year
period = $1350. So, during the 7th ten-year period, the value first reaches $1000.
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Score Point 4

®a) $40
D $O>10:40= ke
o 120>\ = (w20 e -
%0 > 970:90 =50 f})?fo 'M:gi‘
D10~ WS- 135>507k J 7 Ty Pt
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G125 4455, 63~ \3l-88 mf{: 51000

a) The student’s answer is correct.
b) The student’s answer is correct, with sufficient work shown.
c) The student’'s answer is correct, with sufficient work shown.
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Score PointT 3
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a) The student’s answer is correct.

b) The student’s answer is incorrect, with sufficient work shown
to indicate correct strategy.

c) The student’s answer is correct, with sufficient work shown.
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Score PoInT 2

;I a) The student’'s answer is correct.
b) The student’s answer is incorrect, with no work shown or
o explanation given.
; )' ) c) The student’s answer is correct, with no work shown or
L= o explanation given.
Score PoinT 1
(ExampLE A)

Q) The antrgue chawirs vals e jner eased éy
BHO w7 70 ﬂea,r:ﬁ

é) The cl;m‘ré vav/e increasec’ éy 3% EQ.CJy
10 year pericc

c) The 25 /0 year period wil réach
Blaoo becase each /0 yeow

Perfoo/ /5 yncreasec b!? F70.
(OO0 =2F )
a) The student’s answer is correct.

b) The student’s answer is incorrect, with insufficient strategy.
c) The student’s answer is incorrect, with insufficient strategy.
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Score Point 1
(ExampLE B)

® A. \20
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g,qo = 4t (Ot 1nereased Yy FYO 1N

e Arsy 104yr. pendd
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T \Str ey«
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a) The student’'s answer is correct.
b) The student’s answer is incorrect, with insufficient strategy.
c) The student’s answer is incorrect, with insufficient strategy.

C.

Score Point 0

®
Q. Aj{ﬂ\*ﬁﬁo \C{ ease

b, 47 ‘weonce Q0L ncceoase (S done v
4O yeas. YO 65 « Qetentage is Y.

C. Puning Hue ZAh den-vjear peaiod e
Volue v be L te D00

a) The student’s answer is incorrect.
b) The student’s answer is incorrect, with insufficient strategy.
c) The student’s answer is incorrect, with insufficient strategy.
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